m?® + n3; 6) a®+ 1; B) b® + 8; r) x2+ys;
P +q5; e) m®+ nls; x) 27a®+b%; 3) x%+64y%;
c®+125d%; 8p® + ¢'2.
W (a*n)*k=a’(n*k)
ARYAR=gA(n*
prB+QNE=(pr2)A3+(qr2)3 (a"n)"3=a’(n*3)

1)(m+n)(M*2-mn+n”2)
2)(p"2+q"2)((p"2)"2-p"2q"2+(q"2)"2)=(p"2+q"2)(p"4-p"2q"2+q"4)
3)(cr2+5d)(cM4-5cM2d+(5d)*2)=(cr2+5d)(ch4-5¢ch2d+25d”2)
4)(a+1)(a*2-a+112)

5)(m*2+n”*5)(m*4-m”*2n*5+n”*10)
6)(2p"2+q"4)(4p"4-2p"29"4+q"8)
7)(b+2)(b"2-2b+2/2)=(b+2)(b"2-2b+4)

8)(3a+b)(3a"2-3ab+b"2)

9)(x+y"2)(x"2-xy"2+y"4)

10)(x+4y)(x*2-4yx+16y"2)

(a%2)*3=(a"2)*(a"2)*(a"2)=(a*a)*(a*a)"(a*a)=a"(2*3)=a"6



